
.AP Calculus AB 
Chapter 8-9 Review 
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#2 

Bacteria in a certaiu cultufC lnc:rc(lsc at a mlc proportiomiJ, to lhe number present Iftbe numtlCf of 
bacteria doohJes in three hQlus. ill how many hQurs """"ill the number of bacteria triple'~) 
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#3 

A 11articie with 'velocity at any time t given by l~t) = i lll'O'¥'eS.in a straight line. How flu does the 
pal1ide tnewe nOln t = 0 to t = :2 ? 
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#4 

At each point (x , ..v) on a certain curve,.tbe slope oftbe Cll1Ve is 3X2Jl .1fthe em've co:ntaitlS the 

point (0"8), then its eql.latloJl is 

(A) 	 (B) 

(E) 

#6 

Utbe ,)Osition Ofll -pJU'tide (lU the x-axis at time tis -5t2 ~ alen the a'verage vdocirjf nifdu::'}tlflkle 
for 0 $. t :; 3 is 

(A) -45 (B) (C) -15 	 (E) -5 
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#6 

If , - CU':1( J- theIl'1' 
d,1,' 
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#8 

. A pnillt move'> tn a ~tra.pght linc so that its elistance a'f time j from a fhed pointofrhe tine is 
8r \\luu IS the mtoi dl\,~:;iuce C(l\'t;:'ft;'c] by dIe POllI{ hetwe~n ,. = J and f .., ') 
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#9 

TIle'm.:cdt:raitml fJ. \,r.1 hod... nmvlH2; iTl ~l slmlghl1iu.;::is k.-iVctl in knn;;. nrtim<: .r bv (;! ~-()r rf 
ltll: velocity oj" the I.mdy il<> 25 at 1 ~I' .md if s((;1 j:j lht;' {l!i~umc.;c ~,f the hodv OlHU il;c tnil:!ill .H l~mc 

~. - . .~. .-. 

1. v,hat i;; f(4}-s(1)'1 

~.:\} 20 (D) 32 (F.} 42 

#10 

If the graph(lf j,;::: fLd ;;ontauh rhe point ( O. 2), eX: =-)f~ and fix) > () tQr alb-_ t.hen f(x)~ 
(., .1'i?)' "... 

, 
(A) 3+{''' ~:t- .1(8) -.J.'3 +e (C) l+e J. 

r---:t r--; ­
{D)c ,,3+.,-'- (Er \lJ+.,'­

At t = (} a pmtide starts af rest and lllOvesalong a Htle ill socii a way tllat at tiilre t its acceleration 
is 24/1 fe~t per Sb:ooo. per second. Through how many feet does the partide move dm.ing the· fust 
2 sec(;tmL~? ,. 

(A) 32 (B) 48 ,(e) 64 (D) 96 O~) 192 

If --"'-d't' 
= then vMol" v. =l'lv lOU..... .? 

') -,(A) (B) sec- x+C (e)' In secxl+C 

(D) In cosxl,+C (E) s.ec x tau X ..il... (' 


